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Lösungen zu Gemischte Übungen:  
 

 

 zu a) 1287119 x      , ING   

    1287119 x   | 71  

            7112819 x  

            5719 x    | 19  

               1957x  

               3x   , IN3  

               }3{L  

 

 zu b) 43298 c      , ING   

         43298 c    | 29  

              29438 c  

              728 c    | 8  

                872c  

                9c   , IN9  

                }9{L  

 

 zu c) 1293 b      , ING   

    1293 b    | 9  

          9123 b  

          213b    | 3  

               321b  

               63b   , IN63  

              }63{L  
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 zu d) kkkk 11327263     , G    

   kkkk 11327263      (zusammenfassen) 

           321865  kk   | 6  

       632185  kk  

       26185  kk   | k18  

        26185  kk  

            2613  k    | )13(  

        )13(26 k  

        2k   , 2    

        }2{L  

 

 zu e) )1(253)5(4  zz    , G    

   )1(253)5(4  zz     (ausmultiplizieren) 

    2253204  zz     (zusammenfassen) 

         zz 23234     | 23  

      23234  zz  

      2024  zz    | z2  

         2024  zz  

      202 z    | 2  

        220z  

        10z   , 10    

        }10{L  

 

 zu f) wwwww  )12(35)1(33   , G    

   wwwww  )12(35)1(33    (ausmultiplizieren) 

      wwwww  365333  

        33   Widerspruch! 

          {}L  
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 zu g) 0
18

720

6

5

4

)3(3

3

5








xxxx
  , G ℚ 

         0
18

720

6

5

4

)3(3

3

5








xxxx
  | 36      (Hauptnenner von 3, 4, 6 und 18) 

  036
18

720
36

6

5
36

4

)3(3
36

3

5








xxxx
       (kürzen) 

     02)720(659)3(3125  xxxx      (ausmultiplizieren) 

       0144030812760  xxxx      (zusammenfassen) 

          012111  x   | 121  

        12111  x   | )11(  

              )11(121 x  

              11x  , 11 ℚ 

              }11{L  

 

 zu h) )1)(1(12)24()42( 22 aaaa   , G    

           )1)(1(12)24()42( 22 aaaa          (binomische Formeln anwenden) 

  )1(12)41616()16164( 222 aaaaa          (Klammern auflösen & ausmultiplizieren) 

       222 12124161616164 aaaaa          (zusammenfassen) 

      
22 12121212 aa   | 212a  

         1212    awahr    

          L    

 

 zu i) )23)(13(2)32)(2(604)72(7 zzzzzzz  , G  ℚ 

  )23)(13(2)32)(2(604)72(7 zzzzzzz           (ausmultiplizieren) 

     )2369(264326044914 222 zzzzzzzzz          (ausmultiplizieren) 

     zzzzzzzzz 46121864326044914 222          (zusammenfassen) 

                122914605314 22  zzzz      | 214z  

         12296053  zz       | 60  

      602953  zz       | z29  

     6024  z        | )24(  
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         3z   , 3 ℚ 

         }3{L  


